

TO VALIDATE, GO TO Certificate Number: GI-COO-56864-67ae80b4568c6

**VERIFY.FTGS.US** Date: February 13, 2025

| Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park  | Transport Type Vessel     | Port of Loading LOS ANGELES          |
|---|---------------------------|--------------------------------------|
| Irvine<br>CA  | Destination Country China | Destination Port<br>TianjinXingang   |
| Consignee Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District Beijing China | Export Date<br>2025-02-09 | Exporting Carrier N/A                |
|   | Import Permit Number N/A  | Bill of Lading / AWB<br>401510032171 |
|   | Owner or Agent<br>N/A     | Forwarding Agent<br>N/A              |

Buyer (Importer)

Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District

Beijing

China

Remarks Total: 1,560bales Total: 650.928mt



| <b>Description</b> (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.) | Weight   | Country of Origin |
|---|----------|-------------------|
| Alfalfa Hay   | 20.865mt | United States     |
| Marks: GAOU7310694 52bales  |          |                   |
| Alfalfa Hay   | 22.154mt | United States     |
| Marks: EITU9148775 52bales  |          |                   |
| Alfalfa Hay   | 21.727mt | United States     |
| Marks: GCXU6542803 52bales  |          |                   |
| Alfalfa Hay   | 21.791mt | United States     |
| Marks: EMCU1552640 52bales  |          |                   |
| Alfalfa Hay   | 21.546mt | United States     |
| Marks: EMCU8230558 52bales  |          |                   |
| Alfalfa Hay   | 21.818mt | United States     |
| Marks: EMCU8696530 52bales  |          | DAY XXX           |
| Alfalfa Hay   | 21.001mt | United States     |
| Marks: EITU9230158 52bales  |          |                   |



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.



TO VALIDATE, GO TO Certificate Number: GI-COO-56864-67ae80b4568c6 **VERIFY.FTGS.US** Date: February 13, 2025

| Seller (Exporter) Healthy Green Life Corporation  | Transport Type<br>Vessel    | Port of Loading<br>LOS ANGELES       |
|---|-----------------------------|--------------------------------------|
| 43 Corporate Park<br>Irvine<br>CA<br>USA  | Destination Country China   | Destination Port TianjinXingang      |
| Consignee Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District Beijing China | Export Date 2025-02-09      | Exporting Carrier N/A                |
|   | Import Permit Number<br>N/A | Bill of Lading / AWB<br>401510032171 |
|   | Owner or Agent<br>N/A       | Forwarding Agent N/A                 |

Remarks Total: 1,560bales

Total: 650.928mt

Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District Beijing China

Buyer (Importer)

Weight Country of Origin (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.) Alfalfa Hay 21.428mt **United States** Marks: TRHU8948871 52bales 21.609mt **United States** Alfalfa Hay Marks: EMCU8632860 52bales Alfalfa Hay 21.863mt **United States** Marks: EGSU9637640 52bales Alfalfa Hay 21.773mt **United States** Marks: GAOU7286197 52bales **United States** Alfalfa Hay 21.646mt Marks: EMCU1670112 52bales **United States** Alfalfa Hav 21.382mt Marks: EISU8574730 52bales Alfalfa Hay 21.546mt **United States** Marks: EMCU8894686 52bales



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods
- -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.



TO VALIDATE, GO TO Certificate Number: GI-COO-56864-67ae80b4568c6 **VERIFY.FTGS.US** Date: February 13, 2025

| Seller (Exporter)<br>Healthy Green Life Corporation<br>43 Corporate Park  | Transport Type<br>Vessel  | Port of Loading LOS ANGELES          |
|---|---------------------------|--------------------------------------|
| Irvine<br>CA<br>USA   | Destination Country China | Destination Port TianjinXingang      |
| onsignee  | Export Date 2025-02-09    | Exporting Carrier N/A                |
| Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District | Import Permit Number N/A  | Bill of Lading / AWB<br>401510032171 |
| Beijing<br>China  | Owner or Agent<br>N/A     | Forwarding Agent                     |

Buyer (Importer)

Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District

Beijing China

Remarks Total: 1,560bales Total: 650.928mt



| <b>Description</b> (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.) | Weight   | Country of Origin |  |
|---|----------|-------------------|--|
| Alfalfa Hay   | 21.727mt | United States     |  |
| Marks: TGBU4043937 52bales  |          |                   |  |
| Alfalfa Hay   | 21.664mt | United States     |  |
| Marks: EMCU9924960 52bales  |          |                   |  |
| Alfalfa Hay   | 22.036mt | United States     |  |
| Marks: GAOU6955873 52bales  |          |                   |  |
| Alfalfa Hay   | 20.629mt | United States     |  |
| Marks: EMCU8303274 52bales  |          |                   |  |
| Alfalfa Hay   | 22.226mt | United States     |  |
| Marks: EMCU8278398 52bales  |          |                   |  |
| Alfalfa Hay   | 22.072mt | United States     |  |
| Marks: TLLU8502526 52bales  |          |                   |  |
| Alfalfa Hay   | 21.89mt  | United States     |  |
| Marks: EMCU9915401 52bales  |          |                   |  |



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.



TO VALIDATE, GO TO Certificate Number: GI-COO-56864-67ae80b4568c6

**VERIFY.FTGS.US** Date: February 13, 2025

| Consignee Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District Beijing  China  Export Date 2025-02-09  Import Permit Number N/A  Bill of Ladin 401510032  | ter) Transpo<br>Life Corporation Vesse     | Port of Loading LOS ANGELES          |
|--|--|--------------------------------------|
| Export Date 2025-02-09  Export Date 2025-02-09  Export Date 2025-02-09  Import Permit Number N/A  Bill of Ladin 401510032  Beijing   | Destina                                    | Destination Port TianjinXingang      |
| 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District  Beijing  Import Permit Number N/A  Bill of Ladin 401510032  | 2025-0                                     | Exporting Carrier<br>N/A             |
| Down and Annual Control of the Contr | st of Village Committee, Wuxiongsi Village | Bill of Lading / AWB<br>401510032171 |
| N/A N/A  |  | Forwarding Agent<br>N/A              |

Buyer (Importer)

Bei Jing You Yuan Mu Ye Limited Company

200 meters west of Village Committee, Wuxiongsi Village

Dasungezhuang Town, Shunyi District

Beijing China

Remarks Total: 1,560bales Total: 650.928mt



| <b>Description</b> (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.) | Weight   | Country of Origin |  |
|---|----------|-------------------|--|
| Alfalfa Hay   | 21.655mt | United States     |  |
| Marks: TRHU7784578 52bales  |          |                   |  |
| Alfalfa Hay   | 22.272mt | United States     |  |
| Marks: EISU8500281 52bales  |          |                   |  |
| Alfalfa Hay   | 21.936mt | United States     |  |
| Marks: EMCU1852760 52bales  |          |                   |  |
| Alfalfa Hay   | 22.19mt  | United States     |  |
| Marks: TRHU8625246 52bales  |          |                   |  |
| Alfalfa Hay   | 21.646mt | United States     |  |
| Marks: TLLU8523616 52bales  |          |                   |  |
| Alfalfa Hay   | 21.582mt | United States     |  |
| Marks: TRHU4590007 52bales  |          |                   |  |
| Alfalfa Hay   | 21.981mt | United States     |  |
| Marks: EITU9454604 52bales  |          |                   |  |



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.



TO VALIDATE, GO TO Certificate Number: GI-COO-56864-67ae80b4568c6

**VERIFY.FTGS.US** Date: February 13, 2025

| Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park Irvine CA USA  Consignee Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District Beijing China | Transport Type<br>Vessel  | Port of Loading LOS ANGELES          |  |
|---|---------------------------|--------------------------------------|--|
|   | Destination Country China | Destination Port TianjinXingang      |  |
|   | Export Date 2025-02-09    | Exporting Carrier N/A                |  |
|   | Import Permit Number N/A  | Bill of Lading / AWB<br>401510032171 |  |
|   | Owner or Agent N/A        | Forwarding Agent<br>N/A              |  |

Buyer (Importer)

Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District

Beijing China

Remarks Total: 1,560bales Total: 650.928mt



| <b>Description</b><br>(May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.) | Weight   | Country of Origin |
|--|--|-------------------|
| Alfalfa Hay  | 21.373mt                                       | United States     |
| Marks: GCXU6544278 52bales   |  |                   |
| Alfalfa Hay  | 21.9mt   | United States     |
| Marks: EGSU9401227 52bales   |  |                   |
| end of products  | =====  |                   |
|  |  |                   |
|  |  |                   |
|  |  |                   |
|  |  |                   |
|  |  |                   |
|  |  |                   |
|  |  |                   |
|  | N NAME AND |                   |
|  |  |                   |
|  |  |                   |



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.

# GI-C00-56864-67ae80b4568c6/February

### **Healthy Green Life Corporation** 1152 S Roughcut Dr, Casa Grande, AZ 85194 USA

### **COMMERCIAL INVOICE**

Invoice No.

YY-202501006

Date:

1/28/25

Shipper/Exporter:

Healthy Green Life Corp 1152 S Roughcut Dr Casa Grande, AZ 85194, USA Consignee:

**Contract No.:** 

**Booking No.:** 

Discharge:

ETA:

**Country of Origin:** 

Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee,

YY-HGLC2024-8

401510032171

TianjinXingang, China

USA

3/22/25

Wuxiongsi Village, Dasungezhuang Town, Shunyi District, Beijing

**EVER MAGI** Vessel: Voyage No.: 0010-005W

**Shipping Line:** Evergreen

Port of Loading: LOS ANGELES, CA

ETD: 2/9/25

CIF **Price Terms:** 

| Container No. | Seal #    | Product         | Bales | Net Weight (MT) | Unit Price USD/MT | Amount (USD) |
|---------------|-----------|-----------------|-------|-----------------|-------------------|--------------|
| EGSU9401227   | A1830733  | Alfalfa Supremi | 52    | 21.900          | \$403.00          | \$8,825.70   |
| EGSU9637640   | A1830746  | Alfalfa Supremi | 52    | 21.863          | \$403.00          | \$8,810.79   |
| EISU8500281   | UL5464004 | Alfalfa Supremi | 52    | 22.272          | \$403.00          | \$8,975.62   |
| EISU8574730   | A1830517  | Alfalfa Supremi | 52    | 21.382          | \$403.00          | \$8,616.95   |
| EITU9148775   | A1830551  | Alfalfa Supremi | 52    | 22.154          | \$403.00          | \$8,928.06   |
| EITU9230158   | A1830603  | Alfalfa Supremi | 52    | 21.001          | \$403.00          | \$8,463.40   |
| EITU9454604   | A1830690  | Alfalfa Supremi | 52    | 21.981          | \$403.00          | \$8,858.34   |
| EMCU1552640   | A1620035  | Alfalfa Supremi | 52    | 21.791          | \$403.00          | \$8,781.77   |
| EMCU1670112   | A1830518  | Alfalfa Supremi | 52    | 21.646          | \$403.00          | \$8,723.34   |
| EMCU1852760   | A1830643  | Alfalfa Supremi | 52    | 21.936          | \$403.00          | \$8,840.21   |
| EMCU8230558   | A1830610  | Alfalfa Supremi | 52    | 21.546          | \$403.00          | \$8,683.04   |
| EMCU8278398   | A1830744  | Alfalfa Supremi | 52    | 22.226          | \$403.00          | \$8,957.08   |
| EMCU8303274   | A1830501  | Alfalfa Supremi | 52    | 20.629          | \$403.00          | \$8,313.49   |
| EMCU8632860   | A1830602  | Alfalfa Supremi | 52    | 21.609          | \$403.00          | \$8,708.43   |
| EMCU8696530   | A1830606  | Alfalfa Supremi | 52    | 21.818          | \$403.00          | \$8,792.65   |
| EMCU8894686   | A1830516  | Alfalfa Supremi | 52    | 21.546          | \$403.00          | \$8,683.04   |
| EMCU9915401   | A1830648  | Alfalfa Supremi | 52    | 21.890          | \$403.00          | \$8,821.67   |
| EMCU9924960   | A1830510  | Alfalfa Supremi | 52    | 21.664          | \$403.00          | \$8,730.59   |
| GAOU6955873   | A1830502  | Alfalfa Supremi | 52    | 22.036          | \$403.00          | \$8,880.51   |
| GAOU7286197   | A1830741  | Alfalfa Supremi | 52    | 21.773          | \$403.00          | \$8,774.52   |
| GAOU7310694   | A1830553  | Alfalfa Supremi | 52    | 20.865          | \$403.00          | \$8,408.59   |
| GCXU6542803   | A1620033  | Alfalfa Supremi | 52    | 21.727          | \$403.00          | \$8,755.98   |
| GCXU6544278   | A1830689  | Alfalfa Supremi | 52    | 21.373          | \$403.00          | \$8,613.32   |
| TGBU4043937   | A1830511  | Alfalfa Supremi | 52    | 21.727          | \$403.00          | \$8,755.98   |
| TLLU8502526   | A1830743  | Alfalfa Supremi | 52    | 22.072          | \$403.00          | \$8,895.02   |
| TELU8523616   | A1830647  | Alfalfa Supremi | 52    | 21.646          | \$403.00          | \$8,723.34   |
| TRHU4590007   | 1830734   | Alfalfa Supremi | 52    | 21.582          | \$403.00          | \$8,697.55   |
| TRHU7784578   | A1830646  | Alfalfa Supremi | 52    | 21.655          | \$403.00          | \$8,726.97   |

| Total Value: |          |                 | 1,560 | 650.928 |          | \$262,324.00 |
|--------------|----------|-----------------|-------|---------|----------|--------------|
| TRHU8948871  | A1830604 | Alfalfa Supremi | 52    | 21.428  | \$403.00 | \$8,635.48   |
| TRHU8625246  | A1830641 | Alfalfa Supremi | 52    | 22.190  | \$403.00 | \$8,942.57   |

| Commodity            | <b>Crude Protein</b> | Moisture | RFV   | ASH  |
|----------------------|----------------------|----------|-------|------|
| Alfalfa Hay(Supreme) | >=22                 | <=14     | >=185 | <=12 |

GREEN COLOR, LITTLE TO NO BLEACH, NO MILDEW, NO DIRT.

PACKING: FIT FOR OCEAN TRANSPORTATION AND NON WOOD PACKAGING, EACH BALE IS APPROX. 420-460KG



**AUTHORIZED SIGNATURE** 



